92 3 £| [ p A (FHTR)

N 92 47 28 F

A rF’% = SReraaf http//www.cepd.gov.tw

-~ RIRPPIURE © 3 P BRI I e

Hﬁﬁ“%:ﬁﬁmhm%ﬂ 92 5 3 F| RIS AR Y S £
%3¢IH ST 100.1 [ 0 %w*$ﬁ%@@m%ﬁ@@‘
Y PR AT RLRIOPHE R R
(g Eﬁﬁﬁﬁﬁrwusﬁ*@} ﬁfﬁﬂﬂﬁéﬁfiﬂﬁﬁi
%@%SW%%@W%W@%ﬁﬁ’%@%%@E$%Eﬁmﬁ
AR TR B IR P S e P BT

[ b o g S A gy E'IJEL—[H |
fﬁJEﬁ?ﬁ%*)E‘l » 92 & 3 K| ['}}EJ ;?n(ﬁ Eﬁ?ﬁ?ﬁﬁ@flﬁgﬁ@ 102.1 > *
{1k 2 ] 3 fST-fif 103.8 ™ [RE 1.6% o~ iy R (GRS A a‘*ﬁfﬁ@
I = % 2 B dpi@ s ~ Gl 2+ fn My iy < R i
5 SRR I T D BB S R RO L
o PRSP p R BRERY T IR T B R ey
I R ERY e b B EBE RN RREC > AT
SRR
. FJ ?&‘%qu [ﬁ%FF DT RRD 5 55 B A7 55 0 AR ?@:FE[IE—T}:E

92 2% IJJ%J S ﬁsﬂ“ ¥ @?Fiﬁﬁ@pﬂ* [ 5% ﬁql’ﬁ%ﬁ?
SiEeTR D 15T 22 55 0 FGBREIVRUR G 1S Jf’E" F VEE e 3 F
FORIEl T CT e YR [T iy ~ 7 R Rl
EI}J} E[IF'[?}W@HP% S JJEI\T V@D 2 55 &“W?Fﬂlgfg!r M1B
RIS ¥ BT > o b 155 %?FI?FE' g’?v'ﬁﬁkﬁ‘@ A
f[ﬂj%?ﬁ;??”?"“ﬂﬁ P55y =17 55 o %’F'ﬁ}:ﬂ]tF[ 5o I
Hs (PR R R RO S A - sk f=e b [ EE) R
53 IR

1. 92 & 3 F|[PhEikik b F | qHigE e 3 7F1

o ERETEIR Tyl R o LA SR 23.4%18A5 5

1



7.6% > AGPEF TS EELAE > S B D 2 55 o
L & Efbﬁ?ﬁﬁjﬁ*l} FFJj“ (8L 9.7% > AGHRH A (S RhE
PR JHB = 1.4% > S PRTE ATV BT T R D

2 7] o
. g“;fﬁ,pﬁ;&r M1B g F“ F] 8.5%3EY 6.0% - AEBREHIAE
FJE—L}H s TR D1 5T e
2. 92 3 F| (IR 1@ 6 F :
. ﬁl}%w 15 & A= ] 2. 590PEHETE 2.7% - A HET )b
_EJ °
. Elj%aﬂ‘&b ﬁﬂlzéwlf’l%ﬁ%"éﬁ} Fl1_- 5] -5.9%7[5 £3-10.0% >
B R -
. ﬁ&ﬁﬁ%ﬁ@pﬂ B 1] 2 -20. 20648 4 £7-26.6% » K5
ﬁ%ﬂ o
o g ﬁi%ﬁﬁ*% AR R ( TR e )RR S T F] 25060 i £
23%’ %'ﬁﬁFIE:}E °
. @Aﬁwﬂ fr ETEREH I E] % 63.3%43ET% 63.5% - EkAL
FhRE -
. Jla%ﬁbﬁ PR " Befapisk ph = 5] 1.2%0 5 0.9% » AG59RT 15
F[ _EJ °
SRR R FTHDS IR SRR
fiﬁfw%ﬁ F
B $f§é§iﬁ§§ﬁ@ (E‘\rﬂ%?;z“iﬁﬁ@ﬁ#%ﬁ? [N 2 ]
%%TE%%‘EJ/#“ 3 k] l’ﬁﬁ%‘ﬁ[%% Sl R o Sdip S EI%QHI
RN 23.9% o 4 - [T 1.2% 5 P fﬁ IREE |3
13.29% » {12 [T )1 9.8% : ™ 164D 78.4% » 1 F I3
IPS o R SR LA 12 [T Al ETATRE AR £
4.8% » it FF]5E00.3 |ﬁgm&’b iy - iF [FI‘ETFJJrEI 710.4 [ﬁgm%"
Fl v?%ilfﬁk SRR SR R = [ TR R R R
(S 26%0w D EL 21% ; 5EW%J7@}HH” HHIF A ST 61%
ST 65% : STHTRL St iusai 11 H 7] 13917 I[ET 14% » SFVISEH
Holrgr 3P I EEREEE o MRS AR 1 13%1R E 7%



Pul FINT,T

1. 9272 Eﬁ%%@”ﬁﬁﬁ’wwﬁﬁﬁﬁ@%$ﬁT%ﬁ’
BT RAR I DS Rl T S R 3
np s (RIS [ R B i = flad ] R P
S P RS R TR A I R
2. LT o SUPMBETSIE S T AR
EPFIA U PSS (T SARS JBJ =1 S5 fli i o Bl
I I ARSI R SRR PR g
FOPAR PN > iR 700 [G50 P A ﬁr% R
HEFPG=IsHrgl s PRS- WARERRIT IR

)E‘lr \

A PR N AR FHVIEL 92 7 5 Ff 27

i T
= A
p . 91 # (2002) 92 # (2003)
i 9r [107] |10 ] |127)] 1] [ 2] | 37]
#* 1 87(1996=100) 103.2 1025 1024 1011 99.9 100.1, 99.3,
i -E 3 (%) 12 -07 -01 -13 -12 02 -08
;ﬁgjj;;&;:ggl :

%@i%ﬁ%ﬁffﬁgﬁ@;ﬂ (%) 111 111 99 151 79 85 8.4
%ﬂiﬁij‘ﬁi@ NEE|T Eﬁ ('J‘Eﬁ)190.2 190.1 186.6 190.0 190.3 184.1, 187.0,

VN R (%) 236 32 178 132 44 220 63
ESERIIMIBREEE (%) 183 167 152 109 77 85 60
B PfiREREE (%) 06 05 13 24 33 43 39
q&@ﬁ@ﬁ@pﬁ (%) 130 129 104 -122 -148 -202 -2656

Wé@@%ﬁ’dﬁlﬁﬁuﬁfﬁﬁﬁ ("m? |1,953 2,244 2,112 1,885 1,830 1,683 1,945,

7 P ELFHRH - CRSE 5 P ORI PR WIS e
g e



2 bR

F i
- . 91 i (2002) 92 ¥ (2003)
i 9F |10 F| 1L Ff (22 7| 1 5] [2F] [ 3F]
k £147i8(1996=100) 104.4 102.4 102.3 103.7 102.4 103.8, 102.1,
i EF IR (%) 19 -19 -01 14 -13 14 -16
T E R (%) 120 62 84 109 86 97 14

SEEH F AR (%) 126 85 92 118 83 108 15
gilﬁzﬁ@@r,@ (Fif o) 6,451 6,483 6,434 6,527 6,394 6,346, 6,144,
SRR TI9E NS EEYEEE | 02 09 15 24 33 51 99
B g & faE (%) -21 -251 -294 -89 -233 -47 -100
B EBEE (PR ED) 1,588 1545 1,525 1,525 - - -

F:t p ELF ARG o ¢ BRI ’r‘ﬁf’?‘}fﬁ Wk FR TS 5 [ F A1 o

- PRI REEYE

—EREREREH
== BB 152002 EBF 2003
3 4 i} & 7 8 9 A0 | T 2 1 2B 3B
=H éﬁﬁfﬁﬁﬁﬁﬁ;{ﬁﬁiﬁ%ﬁiﬂ%
JEAR OO0 |00 0000 :
s B 20 ;6):; \2-5) ;9 ;1 2_9 23 | 26 243 2 ?
& |EHRERM, BE 00000 0000 O : Q-
%E&&Fﬂ%ﬁﬂﬁ@$ K2R K 26 20 28 26 200K 2R K
wmareperaEssesn: (@ O|® 90 |® 09 90 W@ | @
# lpmamens Ol0]0|0|0|0O|0|0|0|@|®|®|22| @ |-
sesrenEmacRzes |Q|Q@|@ O/0|0|0|0/0|0|@|@| @)
b s O0®e e e e e 0®: 0.
| Tk B fanes OO®®e e ®e®® @\
g e e S 009 e®e® O @ OO0 a0 sss
e e T 00 0QOOQEEOEEE @ >
BATRT . @ iIE O WIE O 4l 0 WER e EE

Bl p BN E  rBBEE 2

=

N‘E‘

FIE (B IR STe RN - e (R L e



SR Bt R

R R

]

S i F] B 5

L {1+ (1) TAE(2) 1(3) -0
2002 F 3 k| 29 61 0 9
4 F| o5 61 1 0
5 5 17 66 17 0
6 %] 15 63 29 5
7% 20 57 23 3
8 21 59 20 )
9 %] 14 63 18 "
10 k| 10 69 51 M
11 5] 13 68 " .
12 k| 21 66 13 )
2003 = 1 k| o5 65 0 .
2] 26 61 13 12
35r
45 p

=hrr RS > p AFIE

ik




